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You may use a calculator and your homework, but not your books or notes. There are three (3)
problems worth 10 points each. Show all of your work to receive full/partial credit.

1) (#25from 3.1) Locate the absolute extrema of the function on the closed interval
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2) (#39 from 3.2) Determine whether the Mean Value Theorem can be applied to f on the closed
interval [a, b]. If the Mean Value Theorem can be applied, find all values of ¢ in the open
interval (a, b) such that f'(c) = %@.
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3) (#25 from 3.3) Consider the function
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a) Find the critical numbers of f (if any).

b) Find the open interval(s) on which the function is increasing or decreasing.

c) Apply the First Derivative Test to identify all relative extrema.
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